ANERDAHYDRAULIC SWAGED HOSE FITTING ANERDAHYDRAULIC SWAGED HOSE FITTING

T

i 87993L
m 90° SAE 900PSI
90° SAE FLANGE 9000PSI INTERLOCK 88191
STRENGTHEN 90°
90° JIS FLANGE
HOSE BORE DIMENSIONS
PART NO. FLANGE SIZE DN DASH C D L H
87993L-20-20 1.1/4" 32 20 54 43.6 | 14.3 | 90.5 T = =
87993L-24-24 1.1/2" 40 24 63.5 50.8 14.3 105 /D e SEAD 5 5 A 5
87993L-32-32 2" 50 32 79.4 66.5 14.3 124
88191-10-08 5/8 12 08 41 34.2 27.8 48 6.7
88191-10-10 5/8 16 10 56.5 34.2 27.8 52.5 6.7
88191-10-12 5/'8 20 12 65.5 34.2 27.8 | 62 6.7
1. 2. 88192-xX-XX.
8 8 1 1 1 Note:1.For use with braided house 2.1f use with spira house,hose fitting serise numberis88192-xx-xx
:[u]]]u]-ﬂ- JIS FLANGE
NN HOSE BORE DIMENSIONS
THREAD E DN DASH C D -4 -
88111-10-08 5/ 8 12 08 45 34.2 27.8 6.7 F .o 18611
88111-10-10 5/8 16 10 46 34.2 27.8 6.7 —'-*"l_ J_I-Hu- WL L 60°
88111-10-12 5/ 8 20 12 46 34.2 27.8 6.7 B JIC METRC MALE60° CONE SEAT
1. 2. 88112-XxX-XX.
Note:1.For use with braided house 2.I1f use with spira house,hose fitting serise numberis88112-xx-xx
PART Number = HOSE BORE DIMENSIONS
THREAD E DN DASH A C S1
88 14 1 18611-14-04 M14x 1.5 6 04 29.5 17 17
45° 18611-14-06 M14x 1.5 10 06 29.5 17 17
45° J1S ELANGE 18611-16-04 M16x 1.5 6 04 30.5 18 17
18611-16-06 M16x 1.5 10 06 30.5 18 17
18611-18-06 M18x 1.5 10 06 30.5 18 19
18611-20-08 M20x 1.5 12 08 35 20 22
18611-22-08 M22x 1.5 12 08 35 20 24
HOSE BORE DIMENSIONS 18611-24-10 M24x 1.5 16 10 39.5 21.5 27
AR MILIRELDIE D DASH - C L al 18611-30-12 M30x 1.5 20 12 45 26 32
88141-10-08 5/8 12 08 58.9 34.2 27.8 24 6.7 18611-33-16 M33x 1.5 25 16 50.5 30 36
88141-10-10 5/ 8 16 10 70.2 34.2 27.8 25.3 6.7 18611-36-20 M36x 1.5 32 20 55 33 38
88141-10-12 5/8 20 12 76.2 34.2 27.8 28.8 6.7 18611-42-24 M42x 1.5 40 24 60 36 46
1. 2. 88142-XX-XX. 1. 2. 18642-xX-XX.
Note:1.For use with braided house 2.If use with spira house,hose fitting serise numberis88142-xx-xx Note:1.For use with braided house 2.1f use with spira house,hose fitting serise numberis18642-xx-xx

(Tel) 86-574-8847111 (Fax) 86-574-8847116 (URL) Http //www.ardyy.com (Tel) 86-574-8847111 (Fax) 86-574-8847116 (URL) Http //www.ardyy.com



ANERDAHYDRAULIC

SWAGED HOSE FITTING

ANERDAHYDRAULIC

SWAGED HOSE FITTING

-—Ew e
i

”LLG#‘_

LA

) ‘ o} JLILIL

60°

" 28691-W

90°

60°

90° JIS METRIC FEMALE 60° CONE SEAT

Lo s st . JIC METRC MALE60° CONE SEAT

o2 28611 s 28611-W

PART Number = HOSE BORE DIMENSIONS

THREAD E DN DASH C S1 S2
28611-12-04 M12x 1.5 04 20 9 17 17
28611-14-04 M14x 1.5 04 21 10.5 19 19
28611-14-06 M14x 1.5 10 06 21 10.5 19 19
28611-16-04 M16x 1.5 04 24 10 22 22
28611-16-05 M16x 1.5 05 24 10 22 22
28611-16-06 M16x 1.5 10 06 24 10 22 22
28611-18-06 M18x 1.5 10 06 25 11.5 24 24
28611-18-08 M18x 1.5 12 08 24.5 11.5 24 24
28611-20-08 M20x 1.5 12 08 28.5 12 27 27
28611-22-08 M22x 1.5 12 08 25.5 14 27 27
28611-24-08 M24x 1.5 12 08 27.5 15 32 32
28611-24-10 M24x 1.5 16 10 28.5 15 32 32
28611-27-10 M27x 1.5 16 10 28.5 10 32 32
28611-30-12 M30x 1.5 20 12 28.5 18.3 36 36
28611-33-12 M33x 1.5 20 12 31 21.3 41 41
28611-33-16 M33x 1.5 25 16 32 21.3 41 41
28611-36-20 M36x 1.5 32 20 35.5 20 46 46
28611-42-24W M42x 1.5 40 24 36 18.8 50 55
1. 2. 28612-XX-XX.

Note:1.For use with braided house

2.If use with spira house,hose fitting serise numberis28612-xx-xx

HOSE BORE DIMENSIONS

PART Number THREAD E DN DASH C H

28691-14-04 M14x 1.5 6 04 30 10.5 38 19 19
28691-14-06 M14x 1.5 10 06 35.5 10.5 43.3 19 19
28691-16-05 M16x 1.5 8 05 33 10 44 22 22
28691-18-06 M18x 1.5 10 06 35.3 11.5 46.3 24 24
28691-22-08 M22x 1.5 12 18 41 14 52.5 27 27
28691-24-10 M24x 1.5 16 10 56.5 15 59 32 32
28691-30-12 M30x 1.5 20 12 65.5 18.3 68.58 36 36
28691-33-16 M33x 1.5 25 16 76.7 21.3 76 41 41
28691-36-20 M36x 1.5 32 20 93 20 90 46 46
28691-42-24W M42x 1.5 40 24 109.4 18.8 103 50 55

1. 2. 28692-xx-xx

Note:1.For use with braided house

Note:1.For use with braided house

(Tel) 86-574-8847111

2.1f use with spira house,hose fitting serise numberis28642-xx-xx.

(Fax) 86-574-8847116

(URL) Http //www.ardyy.com

= 45° 60°
45° JIS METRIC FEMALE 60° CONE SEAT
28641-W
= HOSE BORE DIMENSIONS
PART Number THREAD E DN DASH A C H S1 S2
28641-14-04 M14x 1.5 6 04 43.4 10.5 21.3 19 19
28641-16-05 M16x 1.5 8 05 47.6 10 24.3 22 22
28641-18-06 M18x 1.5 10 06 49.2 11.5 24.9 24 24
28641-22-08 M22x 1.5 12 08 262.1 14 27.2 27 27
28641-24-10 M24x 1.5 16 10 74.4 15 29.9 32 32
28641-30-12 M30x 1.5 20 12 80.9 18.3 33.5 36 36
28641-33-16 M33x 1.5 25 16 89.9 21.3 35.7 41 41
28641-36-20 M36x 1.5 32 20 104.1 20 41.9 46 46
28641-42-24W M42x 1.5 40 24 116.2 18.8 45.5 50 55
1. 2. 28642-xx-XX

2.I1f use with spira house,hose fitting serise numberis28692-xx-xx.

Y S
i ‘H ;:I: LELHLI] ] = " {_"—;_[Ull[mlf_l] 0 o
i 9 = JIC GAS FEMALEG60° CONE SEAT
T m s2/ &I JIS B8363
29611 29611-W
PART Number E HOSE BORE DIMENSIONS
THREAD E DN DASH A C S1 S2
29611-02-03 G1/8"x 28 5 03 20 7 14 14
29611-04-04 G1/4"x 19 6 04 21 8 19 19
29611-04-05 G1/4"x 19 8 04 21 8 19 19
29611-06-04 G3/8"x 19 6 04 24 9 22 22
29611-06-06 G3/8"x 19 10 06 23 9 22 22
29611-08-06 G1/2"x 14 10 06 28 12 27 27
29611-08-08 G1/2"x 14 12 08 26.5 12 27 27
29611-10-10 G5/8"x 14 16 10 31 11.5 30 30
29611-12-10 G3/4"x 14 16 10 28.5 13.5 32 32
29611-12-12 G3/4"x 14 20 12 28.5 13.5 32 32
29611-16-16 G1'x 11 25 16 33 16 41 41
29611-20-20W G1.1/4"x 11 32 20 43 18.5 50 50
29611-24-24W G1.1/2"x 11 40 24 43.5 19 55 55
29611-32-32W G2"x 11 50 32 43.5 23 70 70
1. 2 29642-xX-XX.

Note:1.For use with braided house

(Tel) 86-574-8847111

(Fax) 8

6-574-8847116

2.1f use with spiral house,hose fitting serise numberis29642-xx-xx.

(URL) Http //www.ardyy.com




